MRRERSE (7 h—HRILK,

RETA/KEEEKN=1.0)

1. @@= ELMUBERI=VEL |
2. f4&=  PDFY-P71-80-90GMG(3,4) % |
3. BEET@s®
(HBEECEGESE) w= 33 ke
(@7 vh—RILt
DR N= 4 ES
@Y A X -k M= 10 #
@A LY DB EE (PR L 2 M EH) A= 78 Immid 78x10°  |m?
@WBEREEZIHEDIIRYEZHIAAOTUHA—RILLOBEH Nt= 2 ES
@EFAELYVEBELETOES Hg= 140 mm=_ 014 |m
(DBET BHADSHRILE R/ L= 643 lmm= 0643 m
(OMREHT ZAMMLHFAILRLMSHBELETOIEE Le= 290 Imm(Le<L2)= | 029 |m
4 BREHE(REO/NMIRUTBEEEEALTHEL)
(DEFHAKERE Kh= 10 \
@B ANERE Kv=Kh, 2= 05 \
(RBEAKEHER Fh=Kh-W-98= 3234 IN
(D)BERBERERA Fv=Kv-W-9.8= 161.7 IN
(BY7 v A—HRILEDEIiRA Rp= FhrHe+(W-08+Fv)-(L-Le)
L-Nt = 168.4 \N
BT h—HRILEDH AN Q=Fh/N=| 809 IN
D7 H—HRINET B HE
D3I3REHE 0=Rb/A= 22 IMPa<ft=176.4MPa
@ AW T=Q/A= 10 IMPa<fs=132.3MPa
QBI/EBAWEREEIZZ T HHE fts=14ft—167 = 2453 IMPa
o= | 22 |MPa < fts=| 2453 IMPa
B)7Uh—HRILEDORET %
D7 A—RIL O =[EAKLIS7h- \
@avyy—rOES = 150 lmm= 015 m
QRLEDIBARS = 110 lmm= 011  m
@HFB3IHRME Ta= 3528 N > Rb=| 1684 N

L EOBEBEREIVTUA—RILNI+RELBREEET 5.

KIRHEBERT/A-KFIMIDOVWTOBRERFAETHY. RAOMERELRITHEDTRIHYER A,

| 643(L) | 1 1154

140(Hg)
130

1= )

|
ﬂ
@{ . & . ﬁ'

(531
w
o1

290(Lg)

X1

ZERHKRASH

=

H

16-04-12 | tHEES

WYNB1—-0592

EES

(3/4)




MRRERSE (7 h—HRILK,

R ET /K EEEKN=2.0)

1. @@= ELMUBERI=VEL |
2. f4&=  PDFY-P71-80-90GMG(3,4) % |
3. HRHET@sR
(DVHBEE EEEE) w=| 33 ke
@7vh—HRk
DR N= 4 ES
@Y A X -k M= 10 i
@A LY DB EE (PR L 2 M EH) A= 78 Immid 78x10°  |m?
@BERES 9B DIEYER BB RIOTUH—RILkOBER Nt=| 2 *
@EFAELYVEBELETOES Hg= 140 mm=_ 014 |m
(DBET BHADSHRILE R/ L= 643 lmm= 0643 m
(OMREHT ZAMMLHFAILRLMSHBELETOIEE Le= 290 Imm(Le<L2)= | 029 |m
4 BREHE(REO/NMIRUTBEEEEALTHEL)
(DEFHAKERE Kh= 20 \
@R RNERE Kv=Kh 2= 10 |
(RBEAKEHER Fh=Kh-W-98= 646.8 IN
(D)BERBERERA Fv=Kv-W-9.8= 3234 IN
B h—HRILbDEIHEA Rp= FhrHe+(W-08+Fv)-(L-Le)
L-Nt = 2480 IN
(O)F v h—HRIL DB AN Q=Fh/N=| 161.7 IN
N7 h—HRILMZET BB AE
D3I3REHE 0=Rb/A= 3.2 IMPa<ft=176.4MPa
@ AW T=Q /A= 2.1 IMPa<fs=132.3MPa
QBI/EBAWEREEIZZ T HHE fts=14ft—167 = 2436 IMPa
o= | 32 |MPa < fts=| 2436 IMPa
@7 h—RILLOIET %
DFvh—RI DT % = BRI~ |
@avyy—rOES = 150 lmm= 015 m
QR DIETARE = 110 lmm= 011  m
@HFB3IHRME Ta= 3528 N > Rb=| 2480 N

L EOBEBEREIVTUA—RILNI+RELBREEET 5.

KIRHEBERT/A-KFIMIDOVWTOBRERFAETHY. RAOMERELRITHEDTRIHYER A,

‘ 643(L) | 1 1154

140(Hg)
130

1=}

|
<:jr: . g @ . %

290(Lg)

(531
w
o1

&1

[1]
Rt
&y

=

==

H

16-04-12 | EHEES

WYNB1—-—0593

IS

(3/4)




	WYNB105923A
	文書名 _WYNB10593A-2

